
Thm 19.1, 2: Comparison of box and produ
t topologies.Let B� be a basis for X�Basis for the box topology: f�U� j U� open in X�gor f�B� j B� 2 B�gBasis for the produ
t topology:f�U� j U� open in X�,U� = X� for all but �nitely many �gor f�B� j B�i 2 B�i ; i = 1; :::; n;B� = X� for � 6= �i; i = 1; :::; ngHen
e box topology is �ner then the produ
t topologyThm 19.3: Let A� be a subspa
e of X�. Then �A� is asubspa
e of �X� if both produ
ts are given the box topologyor if both produ
ts are given the produ
t topology.Thm 19.4: If X� is Hausdor� for all � then �X� is Haus-dor� in both the box and produ
t topologies.HW p. 118: 3, 5, 6, 7Thm 19.5: �A� = �A� in both the box and produ
t topolo-gies.Thm 19.6: Suppose f� : X ! Y�. De�ne f : X ! ��2AY�by f(x) = (f�(x))�2A. Let �X� have the produ
t topology.Then f is 
ontinuous is and only if f� is 
ontinuous 8 �


